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When you take out the OMR Answer-Sheet placed inside the Test-Booklet, ensure that Question-Booklet Number on Test-Booklet and
OMR Answer-Sheet are same, otherwise get them changed. Please do not mark your answers on this Test-Booklet.
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This Booklet consists of 100 questions and carries 100 marks. All questions are compulsory and they carry equal marks. There is no
negative marking.
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Each question has four alternatives (A), (B), (C) and (D). Of these four alternative answers, only one is the correct answer for each
question. Use only Blue or Black ball point pen to answer questions.
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All answers are to be marked on the OMR Answer-Sheet only. Mark your responses carefully. Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.
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Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.
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Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.
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Open your Test-Booklet seal, only when asked to do so. Contravention of this attracts disqualification.
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You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential
for evaluation of the Answer-Sheet.
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Completely darken the CIRCLE so that the letter/number inside the CIRCLE is not visible.
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Darken only ONE CIRCLE for each answer as shown in the example below. If you darken more than one CIRCLE, your answer will be
treated as wrong.
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Signature of Invigilator will be done after all the entries are made by the candidate.
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Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed. Any
carelessness in this regard may jeopardize your chances of selection.
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Do not spend time on reading all the questions before beginning to answer them. Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question. Time permitting, you may again tray the left out questions
after completing the whole test.
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Do not talk to or consult with other candidates. This will lead to disqualification.
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Do not carry any electronic gadgets or cell phone during the test. Possession of any such equipment or cell phone will lead to disqualification
of the candidate from the examination.
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Use of unfair means during the examination will lead to disqualification of the candidate.
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In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.
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Choose the synonym (same meaning) for germinate :
Germinate &1 FHMIF I © :
(A) Decay (B) Breed (C) Sprout (D) Die

Count the number of triangles and squares in the given figure.

(A) 36 triangles, 7 squares (B) 38 triangles, 9 squares
(C) 40 triangles, 7 squares (D) 42 triangles, 9 squares
feu w7 fo=t 9, oSl qen s o6t §e 9 it |

(A) 36 Ty, 7 & (B) 38 Ty, 9 =i

(C) 40 T, 7 o (D) 42 Tyqs, 9 =i

EIA stands for :

(A) Economic Impact Assessment
(B) Energy Impact Assessment

(C) Environment Impact Assessment
(D) None of the above

EIA o1 foedR &9 © ;

(A) THFIHS T TiEHe
(B) TSI THIoR THUHE
(C) Tf=imde e TdEHe
(D) W § | HIE &

Ram walks at a speed of 12 km/h. Today the day was very hot so walked at 5/6 of his
average speed. He arrived his school 10 minutes late. Find the usual time he takes to cover
the distance between his school and home ?

(A) 40 mins (B) 45 mins (C) 50 mins (D) 55 mins

T 12 fop . /51 1 a1t 9 =erd §1 o7 #Afa T T B9 % SR 9% STUA 3 d =Te *i5/6 i
Y IAd | T8 10 e X | A €A1 R Y e I g 79 B H IHR WHI THI T
SIS |

(A) 40 fa7e (B) 45 fie (C) 50 e (D) 55 e
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Swadeshi and Boycott movements were launched against :
(A) The partition of Bengal (B) Jallianwala Bagh massacre
(C) British taxes (D) Export of Indian raw materials

et T afgwhR Il ol foheeh fawg TRy fohan = o ?
(A) e fa4reH (B) STferaierel s §eaTehiS
(C) fafew = (D) YR shedl A I T

Choose the antonym (opposite) for unruly :

unruly 1 faaides e T
(A) Obedient (B) Lined (C) Chatting (D) Bad

Three different positions of a dice are shown below. How many dots lie opposite 2 dots ?

3 ferelt T Y i et Feerferal gt T ¥ 1 < fergait ¥ ek e, feregadl <t S W Ty

(i)
(A) 1 (B) 3 © 5 (D) 6

In final exam of class IX there are 50 students, in which 10% students failed. How many
students passed to class X ?

Tt IX =t Sifam 9dten # 50 B € S §10% 5 el 81 9d € | a7t X | fohas o9 S ?
(A) 40 (B) 45 (C) 47 (D) 48

A man travelled a distance of 61 km in 9 hours. He travelled partly on foot at 4 km/hr and
partly on bicycle at 9 km/hr. What is the distance travelled on foot ?

HTE oTeH! 9 5 H 61 TR . 1 g 79 a1 71 FoH 9% eifvren dR W 4 fRA. /s & X 9 e
JeAhR T 99 9 T 1. /5ieT o R | Wighdl § T BT ¥ 1 I8 Ugel TRt gt T AT 7 2

(A) 13 (B) 14 (C) 15 (D) 16
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Pointing a photograph X said to his friend Y, “She is the only daughter of the father of my
mother.” How X is related to the person of photograph ?

(A) Daughter (B) Son

(C) Nephew (D) Cannot be decided

Teh IS i 3R AT e gUX A 79 Freft Y | et ' =g A Aran o faarsht st wehas gt 87
IS aTet AT | X T I Haiel § 2

(A) T B T
(C) wftst (D) froia =& foman T Heha

What is Al Jazeera ?
(A) A Human Rights organisation  (B) A Qatar-based news channel

(C) A religious place (D) None of the above
T SIS M & 2

(A) T THa SRR T (B) #haR feord THMER ==
(C) T wiftier T (D) SUUE H ¥ hig T2l

Here two positions of dice are shown. If there are two dots in the bottom, then how many
dots will be on the top ?

T T ot & el gt weh €1 fe qe 6 91 forg €1, 3He S fargeli e ®

(A) 2 (B) 3 (C) 5 (D) 6

Which of the following modes of transport does NOT pollute the environment ?

(A) Car (B) Airplane (C) Bus (D) Cycle
0 9 fohE YR o1 qReeT TaieRol Sl UgfHd el il ?
(A) ®R (B) ®aE STeTSl (C) =™ (D) HTEHd

Choose the word which is different from the rest :

(A) Milk (B) Soda water (C) Cold drink (D) Beer
3T Vg T FF HITST ST 3T T T ©

(A) 3™ (B) el v (C) wice = (D)
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Where are the headquarters of the Reserve Bank of India ?

(A) Mumbai (B) Delhi (C) Kolkata (D) Chennai
e S 31w sfean o1 qere™ #el 72

(A) TR (B) feeed (C) T (D) =%
Which country is the Ramon Magsaysay Award associated with ?

(A) Vietnam (B) Philippines (C) Malaysia (D) Singapore
e T | T AT TR ety § 2

(A) fagam (B) fmeitd= (C) HeAfRrn (D) famR
Chhau, a tribal martial art dance, belongs to :

(A) Odisha (B) Uttarakhand

(C) Rajasthan (D) Andhra Pradesh

13!, SIS g el T fhe T 1§ 2

(A) SR (B) STUEUS

(C) TSEIH (D) 7Y g<¥

In which sport did India win its first gold medal at the Youth Olympic Games 2018 ?

(A) Weightlifting  (B) Boxing (C) Table Tennis (D) Football
2018 & gaT 3TicI+qeh Wall H§ ¥Rd A fhd @a ¥ w0l qgeh Sidn ?

(A) R (B)  TehaIsil (C) o ft| (D) FeeiA
Who was known as the Grand Old Man of India ?

(A) Bal Gangadhar Tilak (B) Surendranath Bannerjee

(C) Dadabhai Naoroji (D) None of the above

WA 1 IS Siiee U7 o 9 § I S S o ?

(A) &1 TMER faeteh (B) GTEAIY TSI

(C) TIRIHE AT (D) 3w § | HIE &

In a group of students, 65 play football, 45 play hockey, 42 play cricket, 20 play football and
hockey, 25 play football and cricket, 15 play hockey and cricket and 8 play all the three
games. Find the total number of students in the group assuming that each student in the

group plays at least one game.

B o Th YL H, 65 Fead, 45 et 42 fshahe, 20 Feaiar 3R gt Werd ¥, 25 Fedrat qen fshhe,
15 Bieht qeN fohohe aem 8 Teft i M Wetd €1 9% "Md gU T 998 & Y S F° 9 &7 Th T

3TIY WAl § 1 THE H B i H&AT J1q HH |
(A) 105 (B) 103 (C) 101 (D) 100
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A shopkeeper cheats to the extent of 10% while buying and selling, by using false weights.
His total profit is :

T 91 1 ITANT ek hIs GHMER e qell fosha o SR 10% T SEHMT HYdT § | SHHT FoA o

1A i |
(A) 22% (B) 21% (C) 20% (D) 19%

98, 396, 894, 1592, ?
(A) 2480 (B) 2485 (C) 2490 (D) 2500

0,6,24,60, 2
(A) 110 (B) 115 (C) 118 (D) 120

Who was the first law minister of independent India ?

(A) Abul Kalam Azad (B) Dr. B. R. Ambedkar
(C) Sardar Patel (D) Jawaharlal Nehru
A IRA o Y| A T3 R 92

(A) A HAM SS] (B) I Wl.AR. SR
(C) HER YA (D) SERE TBE

Identify the figure that completes the pattern.
39 forst ot gga hIfT S 9fasm sl 90 e |

) Al B &

(1) @ 3) (4)
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26. Choose a figure which would most closely resemble the unfolded form of Figure (Z).
39 o o1 99A HIfST N (Z) & Tol gy fos o gaifus wged & e

L]

LY
o

LT

X) (Y) (2)
o o
T ‘ Yoo ‘ [ %
o0 0
o o o
@ (2) 3)
(a) (@) (B) (2 © G D) @)
27. Largest producer of silk in the world :
(A) India (B) China (C) Thailand (D) Myanmar
fava =1 a9 91 WH &l IUEE :
(A) 9Rd (B) = (C) oS (D) ®IHR

28. Complete the series :
Root, Stem, Branch, .
(A) Fertilizer (B) Leaf (C) Tree (D) Wood

goft qa RIS
Stg, T, A,
(A) FHH (B) (GRS (D) T
29. Where will the next BRICS Summit be held ?
(A) Russia (B) India (C) Brazil (D) China
3T BRICS T3rer ¥ e hel a1t feran simaem ?
(A) ®H (B) wRd (C) i (D) =
30. Which of the following is NOT a fossil fuel ?
(A) Petroleum (B) Coal (©) Nitrogen (D) Natural Gas
T | H e g6 T T2

(A) UgiferH (B) hrFem (C) TEereH (D) Wihfae 9

X
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Megasthenes, a visitor to the court of Chandragupta Maurya, belonged to :
(A) Greece (B) Italy (C) Spain (D) Central Asia
RIS, Weh STFTgeh, S S50 Hid o &R H ST/ o, 9% 70 T 1 o :
(A) FAH (B) Feedt (C) = (D) =eA Tl

Which of the following is matched correctly ?

(A) Border Security Force - Pakistan and Bangladesh
(B) Indo-Tibetan Border Police - Nepal

(C) Sashastra Seema Bal - Myanmar

(D) National Security Guard - China

T 9 i 91 98 gHfed § 2

(A) H & 9 - WiRE AR S
(B)  WRd-fdssrd |iHl gferd - arel

(C) 9 HiHl 9 - RIMAR

(D) T e e - <

Who among the following Alvar saints is also known as the Mira of the South ?

(A) Samkhya (B) Nirata

(C) Andal (D) None of the above
5 STea Hall § 9 fopmeht <feror Bt Hiq @ S 82

(A) wre (B) rd

(C) =T (D) SUUE H 9 hig T2l

A can complete a piece of work in 80 days. He works for 10 days and then B alone finishes
the remaining work in 42 days. The two together could complete the work in :

(A) 24 days (B) 25 days (©) 30 days (D) 29 days

A et & =1 80 fodi # 90 o §1 F% 10 fodi 0 w1 ot © TS99 918 B 31kl 39 & I
42 fei & QU AT 1 A 1 Uk W1l 39 HE I fohae T B QU s ?

(A) 24 fem (B) 25 fem (C) 30 fea (D) 29 fe=

The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area of the
rectangle is 216 sq. cm, what is the length of the rectangle ?

(A) 17 cm (B) 18 cm (€) 19 cm (D) 20 cm

et T 1 =TS qe IRETY 1 U 5: 1% 1 afe STrd 1 &=hat 216 71 QY. €, 1 1d ot
TS 1§ 2

(A) 17 9. (B) 18 €. (C) 19 G (D) 20 &.45.
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Identify the figure that completes the pattern.
34 forst ot gga hIfST S gfas™ sl 90 e |

X e uwbd S

(%)
(a) @ B) 2 © ©) D) ¢

Who was the first Indian to travel to space ?

(A) Kalpana Chawla (B) Sunita Williams
(C) Rakesh Sharma (D) None of the above
ARE | S el GeH WA

(A) FHeH =Tl (B) gfan faferaw

(C) TeRw vl (D) e H | 1 Tl

The Poona Pact was between :

(A) Mahatma Gandhi and B.R. Ambedkar
(B) Congress and Muslim League

(C) Mahatma Gandhi and M.A. Jinnah
(D) Jawaharlal Nehru and Subhash Bose

AT THEHA ook ofte | gt o ?

(A) e i qer ol AR. sTreEet
(B) I e e i

(C) eI el qe AT, fSeme
(D) SR T&& qel GHIT== o

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

feu T o=t (X) & fore =1 =R fasredt & 9 @€t g gfafsa &0 @ 72

O O20w3

X) (1) (2) (3) (4)
a) @ B) 2 © ©) D) (¢




o

40. Who won the Nobel Peace Prize 2018 ?

(A) Mahatma Gandhi (B) Nadia Murad

(C) APJ Abdul Kalam (D) Malala Yousufzai
2018 <1 Aiee W< YRR fefd Sfiar ?

(A) e et (B) e qu

(C) THLS. 3fsga HelH (D) ATl JHESTS

41. Recently, who was appointed as the brand ambassador of the Sikkim government ?

(A) Aamir Khan (B) Amitabh Bachchan
(C) Mary Kom (D) A.R. Rahman

T & H fry fafaen TR & sie orewet & &9 ° fge foran man?
(A) AR @H (B) Ay =

(C) H =M (D) TR wHH

42. Which of the following is NOT a northern neighbour of India ?

(A) Bhutan (B) Nepal (C) Sri Lanka (D) China
T ¥ A HRA 1 3T TSI T 72
(A) g2 (B) HurA (C) diciem (D) =

43. Which of the following is major pollutant of drinking water ?

(A) Radon (B) Carbon Monoxide

(C) Arsenic (D) None of the above

T ¥ D IS H FOY TG TG § 2

(A) EH (B) HIeIA AT

(C) smdfTw (D) W | ¥ & &
44. Which of the following is a work of Kalidasa ?

(A) Harshacharita (B) Ramcharitmanas

(C©) Meghaduta (D) Mudrarakshasa

71 H 9 [ © wifae™ & @ e ?

(A) TEfRa (B) G

(C) Hered (D) TERIER
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Which place is famous for phumdis (floating vegetation masses) ?

(A) Chilika Lake (B) Loktak Lake

(C) Wular Lake (D) None of the above
wafed (U H T aeafa) % fad wiF o T weRg 72

(A) faferr site (B) Tirhesh Eit

(C) IR gia (D) W H | 1 Tl

Select a suitable figure from the Answer Figures that would replace the question mark (?).

I ot | 39 Iugea Foat o1 = hifSe s g9 ot o o9 g (2) ot afaeenfya s
Problem Figure /97 e

i 1] I

(A) (B) (© (D)
Answer Figure/3wX foat

NCEIelE

(1) ) ©) 4) ©)
(A) (1) B) (2 (GRNE) D) @)

Name the southernmost point of the Indian Union that got submerged during the Tsunami :

(A) Indira Point (B) Kanyakumari

(C) Lakshadweep (D) None of the above
TRA ! IH Yo SFE0f T T A9 e S GAE F SR & T o
(A) < diEe (B) w=HHRT

(C) @&Ea (D) SR H F HIE Tl
Where did the Dandi March begin ?

(A) Wardha (B) Sabarmati Ashram
(C) Dandi (D) None of the above
SIET I el ¥ ARY g8 off ?

(A) = (B) WTeRHdl A

(€ st (D) ST H q FHE Tl
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The average cost of 12 fruits is ¥ 26. If one fruit rots, the average cost increases to ¥ 28. Find
the cost of the fruit that got spoilt.

12 el h1 3TEd AT 2 26 € | T el & @9 89§ 3Td FTd 2 28 T 8T & | @ Hedl i
ARTA 1A hiTSTT |
(A) T8 (B) T4 Q) %6 (D) %2

Name the world’s largest coral reef.
A) Andaman and Nicobar Islands
B) Great Barrier Reef

C) Florida Reef

D) Lakshadweep

~

foed 1 oIl SIST SR I 1 A <Iamd |

(
(
(
(

F<HH a1 Fehlem gra
B) e dfeR I%

C) Yeniter i

D) &g

Z

(
(
©)
(D)
How many 4 digit numbers can be formed from digits 1, 2, 3, 4 assuming no digit is
repeated ?

1,2, 3, 4 3Tkl 1 ToT S g IR Akl ot foha-t HEATT SR ST Fehet € 2
(A) 26 (B) 25 (C) 24 (D) 23

Which of the following was not an empire of South India in the ancient period ?

(A) Chola (B) Pallava (C) Pandya (D) Vijayanagara
T et H $9H 9 Rl |1 AHA S0 AR T o 2
(A) = (B) Uoord (C) A (D) fasITR

The total age of A and B is 12 years more than the total age of B and C. C is how many years
younger than A ?

A T B I 3T 1 A A1, B AT C % Fed 91 § 12 99 31ferk 1 C, A | fora o9 Bier 82
(A) 10 (B) 11 ) 12 (D) 13

Which of the following is another name for Greater or Inner Himalayas ?
(A) Shiwalik (B) Kumaon (C) Dhauladhar (D) Himadri

TET A1 A= feATer 1 37 M | :
(A) feranfas (B) U (C) TR (D) femmt
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Select a suitable figure from the four alternatives that would complete the figure matrix.

IR foRedl H 9 39 39 T o1 == SifSe S T8 9= &l 90 T |

DA

AL\ A|A

(1) (2) ®) (4)
(A) (1) B) (2 ©) © D) &

How many 5 digit numbers can be formed from the digits 2, 3, 4, 5, 9 assuming no digit is
repeated ?

o TR %2, 3, 4, 5,9 9 i 3T el fohaT T=Ad AT ST Fehdt &2
(A) 120 (B) 125 (C) 130 (D) 135

Who was awarded the Sangita Kalanidhi Award 2018 ?

(A) Lata Mangeshkar (B) Monali Thakur
(C©) Lakshmi Kumaran (D) Aruna Sairam
ford 2018 1 A helTY JLERR | HATa fohan T 2

(A) € HIRERT (B) Wl SR

(C) w&H FHHA (D) 3T%UT HRUH
Akbar constructed a new capital outside Agra. It was called :
(A) Red Fort (B) Farukkhabad
(©) Fatehpur Sikri (D) Kanpur

e 7 SR & <TeY Teh 7S TSTETT b1 TAToT fohan o, 39 el SIan € ¢
(A) oA fehem (B) TR@EEg

(C) e Hiendl (D) FMR

‘College’ is related to ‘“Teachers’ in the same way as ‘Hospital” is related to :

(A) Doctors (B) Patients (C) Medicine (D) Beds
Hicrs 1 Heiel fieren | € 3 e Biedied =1 ey

(A) SRR (B) it (C) <o (D) ¥
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63.

64.

65.
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Melt : Liquid : : Freeze : ?
(A) Ice (B) Condense (C) Solid (D) Force
foereT < et @ ¢ ST 2
(A) & (B) STy (C) <= (D) &
Flower : Bud : : Plant : ?
(A) Seed (B) Taste (C) Flower (D) Twig
TAeR : &€ @ : Wi : ?
A) ¥ (B) & (C) IR (D) &t

What is the perimeter of a rectangle whose length is 17 m and area is 221 sq. metres ?

I 3 1 AT J1G hifSTT fSraent owre 17 |, qen &5rhat 221 o7 o1, §1
(A) 60 (B) 61 C) 62 (D) 63

X started to walk straight towards south. After walking 5 m he turned to the left and
walked 3 m. After this he turned to the right and walked 5 m. Now to which direction X is
facing ?

(A) North-East (B) South (C) North (D) South-West

X Y faqor skt SR =eT STRY T ® 1 5 H. Fe % 9g 9 e 3 W, Jerdl €1 Tk a1
qeehi 5 |, =era ©1 319 X forg feun =it iR qawdi €2

(A) IR-TH (B) gfarm (C) W™ (D) <feror-ufy=m
Choose the figure which is different from the rest.
39 T 1 J1 wifSTT 1 37 4 R )
|- -
= |2 |=|=|3
— - > r——n
(1) ) ®) (4) ®)
A @ B) (2 © G D) ©)
What is essential to an election :
(A) President (B) Voter (C) November (D) Nation

oATa & fore it 2
(A) TeZufd (B) Hagml (C) TR (D) T

~ ~



66.

67.

68.

69.

70.

=

Which set of tales deals with the previous births of Buddha ?

(A) Jataka (B) Tripitaka

(C) Aesop’s Fables (D) None of the above
I& & TASH & HoH H fohd THg 1 HARH Hl SR @ S § 2
(A) SR (B) Tafuesh

(C) zE9g -ifaswen (D) W H | HE Tl

If A+ B means A is the sister of B; A X B means A is the wife of B, A%B means A is the father
of B and A —B means A is the brother of B. Which of the following means T is the daughter
of P?

A+BH AT §; A, B! 98 8, A x B H AT ; A, B I 91 &, A%B &1 A §; A, B 1 e
T TA A—BHI AT 5 A, B 9 ¥ 1 FrAfafod # frgm aed T 6 T, P 6t ol 2

(A) PxQ % R+S-T (B) PxQ%R-T+ S

(C) PxQ % R+T-S (D) PxQ % R+S+T

In which year did the Indian Ocean tsunami strike ?

forg o IRd WREFR § AT 3178 off ?
(A) 2004 (B) 2010 (C) 2000 (D) 2006

Name the first mammal to be cloned :

(A) Dog (B) Sheep (C) Goat (D) Horse
‘e TR ST el Werm TER! B AW S 2
(A) (B) %3 (C) ==t (D) ESr

Complete the series :

It 9 HItT |

jr~e [ae] | o] 7

—]
l— = || —
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Complete the series.

ot 9 T |
173, 152, 131, 110,
(A) 88 (B) 87 ) 91

Choose the picture that would go in the empty box so that the two bottom pictures are

related in the same way as the top two are related :

39 o3 1 =g HIfST S @relt st | SR arfer 1 <) fosil o1 Heie 3t o9 € 7, S foh S

T e H T

=P
o @ @B @
(A) @) (B) (2 <© O

Which of the following is NOT an example of social media ?

(A) Flipkart (B) Facebook (C) Twitter
T | 1 Free e w1 3emwe T4 8 2

(A)  forrre (B) WHIF (©) fo=x
Which of the following is a wind instrument ?

(A) Mridangam (B) Flute (C) Veena
=7 & % e § A A A 2

(A) T_m™ (B) gl (C) frm

What is the main source of Indian Constitution ?

(D) 89

D) @

(D) Instagram

(D) SEIH

(D) Sitar

(D) f&ar

(A) Irish Constitution (B) South African Constitution

(C) American Bill of Rights (D) Government of India Act, 1935
IR o G 1 T B 1 © 2

(A) i dfaum (B) Tfeur Ahient HiaH™

(C) sifew sifysr fageen (D)

YRd &R Afafaa™, 1935
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w7

Aadhaar is administered by :

(A) Ministry of Home Affairs (B) Prime Minister Office
(C) CAG (D) UIDAI

MR =1 g Senferd fepan < ©

(A) T8 T (B) THM Wl T

(C) LTS (D) 9.31E.S1L.U.3TE.

Which of the following is NOT a fundamental right ?

(A) Right to income (B) Right to equality

(C) Right to freedom of religion (D) Right against exploitation

TTH | A Hiferh ISR T& 7?2

(A) 3 <kl SAfTHRR (B) HHAI 1 YRR

(C) wfHer Tordaar 1 SR (D) ¥ & foeg eAfusr

The capital of is Shillong.

(A) Nagaland (B) Meghalaya (C) Mizoram (D) Sikkim
feretr FT T T

(A) AFRIS (B) A (C) fosire (D) fTafeery

In a hostel, 10 rooms are vacant. In how many ways can 8 students be assigned these
rooms ?

fordt SEE H 10 FH @iell €1 8 BET U 37 HH ! fohas aliehl T oieT ST Hehal 2
(A) 89 (B) 90 (C) 91 (D) 92

Which of the following is not a Central Indian Tribe ?

(A) Mishmi (B) Gond (C) Baiga (D) Bhil
T T HF-T1 H&9 YA Y ST & © 2

(A) faeet (B) i (C) smm (D) ofta
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Find the minimum number of straight lines required to make the given figure.

feu w7 forst o Faio § o arell Wa W@nsil st =[AaH W& J1d i |

(A) 13 (B) 15 Q) 17 (D) 19

Which of the following is NOT an organ of the United Nations ?

(A) UN Security Council (B) UN General Assembly

(C) World Health Organisation (D) International Court of Justice
T W I G TS ol Teh 3T Tal & 2

(A) HIHR T YT 9 (B) WK U S AYwIAl

(C) fova w@rees iwaa (D) SRS e

Find the HCF of 59, 6.

~

59, 6 1 HH FHTIES Ad hife |

(A) 354 (B) 2 (C) 24 (D) 1

Earthquakes are measured by :

(A) Orelli Meter (B) Nathanial Scale
(C) Maco’s Number (D) Richter Scale
o™ H9T T & :

(A) el Hex 9§ (B) Trenfadt Thal |

(C) Heml TR (D) TR ha |



85.

86.

87.

88.

89.

2

Which of the following financial institutions gives loans for development projects to India ?

(A) Asian Development Bank (B) World Bank

(C) New Development Bank (D) All of the above

= # & St faxia Heem IRa & foem afEsm & faw o <ar § 2
(A) TREE feaami= 9% (B) fova d=

(C) 1 feaau= 9% (D) ST® A

If the radius of a circle is 5 cm, its area is :

afg Tt g ot oo 5 Q.. B, ol ST Shet BT ¢
(A) 78.54 (B) 76.23 (C) 7453 (D) 70.92

The state does not uphold any religion as the official religion of the state and practices equal
respect to all religions. What is this quality called ?

(A) Sovereignty (B) Secularism (C) Democracy (D) Republic

T Rt off e <1 garara el Y, 9% 9ot ol & 1A A o fod THE I @ R | 9 U R
FIT BT ST § 2

(A) Y& (B)  HIRUSTAl (C) reRdd (D) TGS

If a bigger circle has an area of 18 square cms then a smaller square having half the radius of
the bigger one, has an area of :

IfE T 9 I T AR 18 I A, B, @ Tk BIe ot et F5oen 58 g i oo o6t ot §,
&I BT

(A) 4 (B) 4.5 (C) 5 (D) 6

Phulkari belongs to :

(A) Jammu and Kashmir (B) Gujarat
(C) Telangana (D) Punjab
‘TR Tl ¥

(A) w1 3R HTHR (B) TId

(C) W& (D) dSE



o

90. Select a suitable figure from the Answer Figures that would replace the question mark (?).

I s 9 39 3Iugea ot 1 =97 wifSe st 9% 91 o I fomg (?) ol wiaeenfad s |
Problem Figure/ W9 ferx

Al (D]

(A) (B) © (D)
Answer Figure/3 o

a) () B) 2 © 0O D) ¢

91. Name the app that allows voters to rate and review their political representatives :
(A) VOTE (B) BHIM
(C) NETA (D) None of the above

39 U T A ST S HASIAST bl 79 Teitdes Sfafreei 1 geaie T faver o & § S1adt
T

(A) = (B) m
(C) = (D) W § | HE &

92. Find out the alternative figure which contains figure (X) as its part.

3 dehfeqss fo S 1 Swifee fomd o1 (X) 39 9T & &9 H 9 S

7| 6

X) 1) (2) ®) (4)
A @ B) (2 © G D) @
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The average age of a class of 22 students is 21 years. The average increased by 11 when the
teacher’s age also included. What is the age of the teacher ?

22 BT i Tk haTl ohi 3id 3T 21 9 T 1 s e =t o119 fiem <t Sw @ 39 el &t o7 d o1
1199 9 5 St &1 freres st g @ €2

(A) 42 (B) 43 (C) 44 (D) 45

The percentage increase in the area of a rectangle, if each of its sides is increased by 20%,
is :

I ST T Y&k ST I 20% H &Sl &F ST I 36 &5%al § foha fdawr i gfg 2 ?
(A) 40% (B) 42% (C) 44% (D) 46%

Who, along with Bal Gangadhar Tilak, started the Home Rule League movement ?

(A) Mahatma Gandhi (B) Gopal Krishna Gokhale
(C) Chapekar Brothers (D) Annie Besant

e THTTER fofeteh < |l fohe ‘21 el Wi Sirier | SRy fehen o2

(A)  HRIH el (B)  TITel T TG

(C) =Rt &Y (D) T =

Which code comes into play once elections are announced ?

(A) Electoral Code (B) Fairness Code

(C) Model Code of Conduct (D) None of the above
T SR W e & ST & S & oA S w9 e 2
(A) el Higar (B) Tomet =R wigd
(C) 3T=e ST Hfgan (D) 3w § | HIE &

Name the second largest district in India which is also home to the Red Gompa or Namgyal
Monastery :

(A) Tawang (B) Leh

(C) Gangtok (D) None of the above

IR § TE T oS TSl 61 A 5and S ¥ T A1 i 1 SAe o §
(A) @ (B) <@

(C) i (D) SR H 9 HE &
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Find out how will the key figure (X) look like after rotation.
I1d ifae o gea o3t (X), A o a8 ford yar feam ?

Al A4 4

X) 1) 2) (3) (4)

(a) @) B) (2 © G D) )
Sunrise : Sunset : :
(A) Dawn : Twilight (B) Noon : Midnight
(C) Morning : Night (D) Energetic : Lazy
BRICRIE 1{&?’{?[ D
(A) TEUIRE : Witd R (B) <I9= : HeH UM
(C) g : A (D) Softer : g

F

AlE
B F F @ D
B E B E
cC|D
(X) (1) 2) (3) 4)

Choose the box that is similar to the box formed from the given sheet of paper (X).
(A) (1) only (B) (2) only
(©) (1) and (3) only (D) (1), (2), (3) and (4)
Y AR T = HifT St <R TS % e (X) B fafda St @ aue g
(A) F (1) (B) A (2)
(©) F (1) 3R (3) (D) (1), (), @) R @)

-00o0-
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SPACE FOR ROUGH WORK / % & o for &l srg
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